Run 5628 quartetwise, Asyms0 (Raw): All Run 5628 quartetwise, Asyms0 (Raw): Beam OFF
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Run 5628 quartetwise, Diffs0: All Run 5628 quartetwise, Diffs0: Beam OFF

guartetwise diff0 4000 = quartetwise_Dbeami_difo
35000 — Enties 110744 - Enlries 100224
— Mean 0.03293 — Mean ~3.781a-05
20000 __ Ertlj U'E"-I' D‘.1 ?95 35|:|'D [ 2id Dhay 0.04689
— 3000 —
25000 — —
- I 2500
20000 — —
- 2000 —
15000 — -
- 1500 —
10000 — ] —
= 1000 —
5000 | 500 —
.D_I5| 1 1 1 I 1 1 II_,DIEII I{!IIL—'- 'DIE" ] I IEII | Iél 1 1 IEIEI D:III_I,DIEIII_I,D 5 II_{:!III_!DllDéIIIll:!llllllljllljs:lllﬂlll DIE:'J-II{:IlEII
—1. -1 . . 1 1. . . N N . . A N .
PosHelAccO/PosHelNSamplesD - NegHelAccO/NegHelNSampleso PosHelAccO/PosHelNSamples) - NegHelAccO/NegHelNSampleso
Run 5628 quartetwise, Diffs0: Beam ON, Laser ON Run 5628 quartetwise, Diffs0: Beam ON, Laser OFF
_ quanebwise_beaml_las? ot quanebwise_beami_last diif
20— Entries 1888 — Enfries 1753
— I Mean 0.7078 — Mear 0.005491
_ Std Dev  0.4458 o Std Dev 0.2419
60— —
- 60—
50— =
~ 50—
40— . -
- 40—
30 :— 20 :_
20— 20—
10— 10—
'D:"'_ﬂ L P b b Al e | 'D: Lo nl T R R B MYy ol
-1 -0.5 0 0.5 1 1.5 2 2.5 -1 -0.5 0 0.5 1

PosHelAccO/PosHelNSamples( - NegHelAccO/NegHelNSampleso PosHelAccO/PosHelNSamples) - NegHelAccO/NegHelNSamplesD



60000

50000

40000

30000

20000

10000

140

120

100

80

60

40

20

Run 5628 quartetwise, NegHelAccO/NSamplesQ: All
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Run 5628 quartetwise, NegHselAccl/NSamplesl: Beam ON, Laser ON
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Run 5628 quartetwise, NegHelAccO/NSamples(: Beam OFF
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Run 5628 quartetwise, PosHelAccO/NSamplesC: All
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Run 5628 quartetwise, PosHelAcc0/NSamples0: Beam ON, Laser ON
_ guamctwisa baamil las® posHs
140 — Entries 1888
- Mean 12.89
B Std Dev  0.7692
120 —
100 —
a0
g0 —
40—
20—
0 N O P L1
8 9 10 11 12 13 14

PosHelAccO/PosHelNSamplasD

4000

3500

3000

2500

2000

1500

1000

500

60

50

40

30

20

10

Run 5628 quartetwise, PosHelAccO/NSamples0: Beam OFF
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Run 5628 quartetwise, PosHelAccO/NSamples0: Beam ON, Laser OFF
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Run 5628 quartetwise, Sums0: All
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Run 5628 quartetwise, Sums0: Beam OFF

quartebwise beaml surmmd
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Run 5628 quartetwise, Sums(: Beam ON, Laser OFF
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